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Heo-T QPCode 32169

[Time: 2% Hours]

Please check whether you have got the right question paper.
N.B: 1. All questions are compulsory and carry equal marks.
2. Use of map stencil is allowed.
3. Draw sketches and diagrams wherever necessary.

[ Marks 75] ‘

Attempt any Two of the following: : AT S Loy 20 <

a) Explain the concept and importance of human geography :
b) Describe the various approaches studying human geography.
c) Explain man-environment relatlonshlp as per posmbthsm and probablhsm '

Attempt any Two of the following: i3 : O SERE AT

a) What are the factors that decide the stte of human settIements" S
b) Distinguish between rural and urban settlements
c) Describe various patterns of rural settlements

Attempt any Two of the tollowmg SEF R R 20
a) Which factors affecting distribution of populatton in the world'? :

b) What is population Explosmn'? erte the problems and iemedles of population
Explosion, -~ :
c) Write short notes:-
i; Populanon Densnty _
i Gptlmum Populatton

Attempt any '[‘wo of the follomng S 5 S R 20
a) ‘What. are the causes of | mlgrahon‘? Dlscuss the importance of migration studies.
b) Descnbe the recent trends i m it mtematlonal migration.

: c) Whlch are the push and pull faetms 111ﬂuenemg migration?

.f.._Attempt any 'I'wo of the follewmg > : 20

a) Calculate t.he Rn and comment on whether the settlement is dispersed or
- undebated ¢ . 3
Settlement No - '1 Sl 2R F 4 5 6 7 8 9 10
_Distance inkm | 3.80 | 5.75].1.83 | 425 [3.45[240[3.15[2.38 [ 255] 1.95
Arealinkm?® ['80 < L
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b) Construct Age-Sex pyramid and interpret.

Age Groups Males (000) Females (000
0-10 18 19
16-30 29 28
31-45 18 12
46-60 10 F P97
60+ 09 KPR

¢) Study the flow map supplied to you and answers' tﬁé-following_: _' -
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© 4. Whatis the theme of the map?
i, Which continent imports maximum iron one?
i, Which continent does not import iron one?
"iv. . How much iron-one is exported from Australia?
09,230 How much 1r0n~one is exported from India.

<y Write in :shq'rt,the'l_‘mportgnqe _of ‘Nearest Neighbour Analysis’.
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